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1	Decision/action requested
The group is asked to agree the detailed agreements in section 4.
2 References
[1] [bookmark: _Ref123847897][bookmark: _Ref131514553]S5-237064			Rel-18 pCR TS 28.318 Availability KPI definition
[2] 3GPP TS 38.473	F1 application protocol (F1AP)
[3] 3GPP TS 38.401	Architecture description
[4] 3GPP TS 28.318	Network and Service Operations for Energy Utilities (NSOEU), v0.2.0
3	Discussion
In SA5#151 a solution for Total cell In-Service duration as a performance measurement was agreed in S5=237064 [1]. The derivation of the PM is specified in step c:
c)	This measurement is obtained in two steps. First step involves determining the time interval between the time stamps Tin and Tout. Where Tin is the time stamp when the Service Status is reported as “In-Service” for a cell by gNB-DU to gNB-CU and Tout is the time stamp when Service Status is reported as “Out-Of-Service” by gNB-DU to gNB-CU for the same cell in the GNB DU CONFIGURATION UPDATE messages. Second step involves summing up all these time intervals of a cell which fall within the desired observation time frame Tobv. This gives total in-service duration of a cell within the observation time frame Tobv. Where, Tobv is monitorGranularityPeriod  as defined in TS 28.622[X] clause 4.3.16.

Problem #1:
This derivation replies on signaling between gNB-DU and gNB-CU, using gNB-DU Configuration Update message and the included Service Status IE from 38.473 [2].
A fundamental principle of 3GPP standardization is that no specific implementation may be mandated. While some physical instances may implement the split of the gNB according to TS 38.401 [3] and correspondingly implement F1AP, this cannot be assumed in all cases since the split of the gNB into gN-CU and gNB-DU is an option only. Therefore, an approach to derive Cell Availability in NSOEU that relies upon F1AP and the split of gNB is not an acceptable solution.
Further, the signaling on F1 has visibility on the cell from F1 functional point of view only. Sure, unavailability of a cell on F1 means unavailabiltiy of the cell, however, availability on F1 not necessarily means availability of the real cell.
Problem #2:
The definition of the measurement based on time stamps of changes, as is currently included in §7.1.1.1 Total cell In-Service duration, 28.318 [4], is a problem in case only one or no change happens during a Tobv:
|---------GP=1-------|-------GP=2-------|-------GP=3--------|
  T_out ^                                      T_in  ^
        +------------- OST=disabled -----------------+
In all above cases some exceptional handling needs to be defined in order to circumvent a definition based on events.

Problem #3:
"e) SO.CellInServiceTotal.NCGI, where NCGI is NR Cell Global Identifier as defined in TS 28.541[26]. The number of measurements is equal to the number of NCGIs (cells)." [4]
Not clear what this exactly means, since in NR (and LTE) any physical cell might serve multiple PLMNs in parallel, such that one physical cell might have multiple NCGI -which would multiply the number of measurements without any new information. This would load expecially the base stations, where as matter of fact resources are very expensive and limited.
4	Detailed proposal

Proposal: Agree that a new solution for Cell Availability performance measurement, not based on a specific implementation, is required.
